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Relação do aço

P6 P7 P8

P9 P10

AÇO N DIAM
Q

UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 98 98 9604

2 5.0 154 24 3696

3 5.0 56 108 6048

CA50 4 10.0 30 VAR VAR

5 10.0 12 338 4056

6 10.0 12 77 924

7 10.0 18 297 5346

Resumo do aço

AÇO DIAM C.TOTAL

(m)

PESO + 10 %

(kg)

CA50

CA60

10.0

5.0

129.1

193.5

87.5

32.8

PESO TOTAL

CA50

CA60

87.5

32.8

Vol. de concreto total (C-25) = 1.14 m³

Área de forma total = 20.57 m²
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Relação do aço

P11 P12 P13

P14 P15

AÇO N DIAM
Q

UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 196 98 19208

2 5.0 196 24 4704

CA50 3 10.0 30 VAR VAR

4 10.0 6 297 1782

5 10.0 24 338 8112

6 10.0 24 157 3768

Resumo do aço

AÇO DIAM C.TOTAL

(m)

PESO + 10 %

(kg)

CA50

CA60

10.0

5.0

162.5

239.2

110.2

40.5

PESO TOTAL

CA50

CA60

110.2

40.5

Vol. de concreto total (C-25) = 1.37 m³

Área de forma total = 25.19 m²
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